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SN ABRSELAD
Ha: Aezse S4
oo AEBASATE BB (el @e
SA B (BH) - MRAY - B2 Ofl At o gg;ﬁ; Hnz2
O HBAMEHARTH 17 A %120,000, 0002 *50/ 100 60,000
= 18,000
- 42,000
SRS E S H ALK 600,000 0 600,000
2 500,000
= 20,000
2 80,000
402 PIZXHE0|H 600,000 0 600,000
2 500,000
= 20,000
2 80,000
01 PAREDE 600,000 0 600,000
O ARG EH ALK 20,000,0008 * 505 * 60/100 600,000
z 500,000
= 20,000
= 80,000
DEIN MAIIBEN 6,781,710 6,851,481 ~69,771
= 6,512,300
= 78,888
2 190,522
SOOI ALE BRI 2 (S HI) 37,360 37,600 A240
= 1,208
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1Y S E 4D}
SNV
o MADBEES (S5 &2)
S HH - S(BH) - HEAY - BE=2 Ofl At o glggi; HRZ2
SOOI FABRYIZ 2 (EHI) 2 26, 152
206 T2l 37,360 37,600 A240
= 11,208
2 26, 152
NEEED 37,360 37,600 240
O sotEABRYIZ2 934 * 40,0002 37,360
= 11,208
2 26, 152
BASSEHISH XA () 6,512,300 6,697,889 185,589
= 6,512,300
301 YrBAZ 6,512,300 6,697,869 185,589
= 6,512,300
12 JlEr2AS 6,512,300 6,697,889 185,589
O BASSEHEESH X (9,273HA) 6,512,300,000 6,512,300
2 6,512,300
B YHRZIS(SH) 3,750 4,710 9,040
= 5,500
2 8,250
402 QIR0 13,750 4,710 9,040
= 5,500
2 8,250
01 AR=EE 13,750 4,710 9,040
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2=
ESpa = RS
CERI(BIH) - NIRAY - A S Akl e =
O 11ha=2,500,000& 50/ 100 13,750
& 5,500
o 8,250
s&=K 40,800 15,182 25,618
& 16,320
= 24,480
307 40,800 15,182 25,618
L= 16,320
= 24,480
06 40,800 15,182 25,618
O SMol 2 X 40,800
= 16,320
i 24,480
2RI AN =T 20,700 18,900 1,800
L= 4,140
= 16,560
402 20,700 18,900 1,800
& 4,140
= 16,560
01 20,700 18,900 1,800
O 23CH*1,800,000& *50/100 20,700
& 4,140
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SN AEHYSSAD

M aA=Y |4
ol DEIA MAD|BHEA CCR-ED
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
= 16,560
LeISTHHHE SUHXIR(=H]) 5,200 5,200 0
== 1,040
iy 4,160
402 QI2EXE0| M 5,200 5,200 0
& 1,040
o 4,160
01 IZX=2EX 5,200 5,200 0
O RSMHHA A 24 2 %5, 200,000 x50/ 100 5,200
o= 1,040
o 4,160
EZSAE A2D] X (&H) 10,000 10,000 0
== 2,000
o 8,000
402 QI2EXE0l N 10,000 10,000 0
== 2,000
o 8,000
01 QIZX=2BEX 10,000 10,000 0
O ES sét= &2l XN& 101 2~ %20,000, 0002 *50/100 10,000
o= 2,000
= 8,000
UESENEE MMAMAT L (ZH]) 51,600 60,000 A8,400
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MU AP S4
9: DBHM MAI|BIEY (e e
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
402 QI2tXE201H 76,000 0 76,000
& 19,000
= 57,000
01 BIZEAI22 X 76,000 0 76,000
O NEEstsHEHoMsH 191 £ *152,000, 000 *50/100 76,000
& 19,000
i 57,000
0 S&HAY 1,887,250 3,692,068 21,804,818
= 54,000
s 1,100,000
& 124,100
= 609, 150
ANE20 & ES&2 2388 M1 1,887,250 3,134,350 A 1,247,100
= 54,000
s 1,100,000
== 124,100
= 609, 150
H A THERAE JH 2 2= ALY 22,500 50,000 A27,500
402 QI2tXHE01A 22,500 50,000 A27,500
01 BIZEAI22 X 22,500 50,000 227,500
O HATHEHAL JHE = AL 5& * 9,000,000& = 50/100 22,500
= (R4Adx) 24 MY 30,000 30,000 0
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SN AESASEAY
Hu: 20| SHA
ol AIER0l U SEBXS AW HD CCR-ED
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
402 QI2tX201H 30,000 30,000 0
01 BIZERI=22 X 30,000 30,000 0
O = (Ra2)THAY 10.0ha = 6,000,000& *50/100 30,000
HIOIE oI A AIEXIR 73,500 0 73,500
402 QI2tX201H 73,500 0 73,500
01 BIZEAI=2E2 X 73,500 0 73,500
O HIDtEHotRA(EIIS)EX 0.7ha*210,000,000%50/100 73,500
AER0 HUXIEZ A& 100,000 90,000 10,000
402 QIZ2tXHE201A 100,000 90,000 10,000
01 BIZEAI=22 X 100,000 90,000 10,000
O AIZ&0 OUXIZE2Z AlE 10CH * 20,000,000 * 50/100 100,000
20 ESMA Tt 25(5H|) 37,500 45,000 AT,500
& 11,250
i 26,250
402 QI2tXH=E0IA 37,500 45,000 27,500
& 11,250
= 26,250
01 2UARE2EX 37,500 45,000 A7,500
O HIJIEotA 5,000m =15,000& *50/100 37,500
& 11,250
i 26,250
NS0 HUXIEZAA XA (3Y]) 108,000 45,000 63,000
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SN AEAEEMY
HE: A0 SHAY
ol AIER0l U SEBXS AW HD (29 @ @
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
AN HUXIEZAAE K& (3Y]) = 54,000
& 16,200
= 37,800
402 QI2tXHE0IH 108,000 45,000 63,000
= 54,000
& 16,200
= 37,800
01 QIZERI=2E2 X 108,000 45,000 63,000
O 228 S tha = 180,000,000& = 60/100 108,000
= 54,000
= 16,200
o 37,800
SAUSEZESARR (=) 7,500 25,850 A 18,350
L= 3,000
= 4,500
402 QI2HX 201 7,500 25,850 218,350
& 3,000
= 4,500
01 Q==X 7,500 25,850 A18,350
O IS 15,000=*1,000& *50/100 7,500
& 3,000
i 4,500
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SN AEYSEAD
M 20 SHAY
SH9l: AMRI0 L SSEES W KD (S5 &2)
S HH - S(BH) - HEAY - BE=2 Off &+ o4 a%ggi; HRZ2
BAAEY ALY XA(SH) 2,500 32,500 220,000
& 3,750
2 8,750
402 QI2ERZOIH 2,500 32,500 20,000
= 3,750
2 8,750
R EEES 2,500 32,500 20,000
O ZHITHAIAE S 521 2 %5,000, 0002 *50/ 100 2,500
= 3,750
2 8,750
A AAIE B OHBEAR (S 1)) 54,000 36,000 18,000
= 21,600
2 32,400
402 BIZXHZOIF 54,000 36,000 18,000
= 21,600
2 32,400
01 DIATRLE 54,000 36,000 18,000
O HAMAAILE SHEAY 21,600,008 * 55 * 50/100 54,000
= 21,600
= 32,400
EO0IE YUTHHAIL(RS) 240,000 300,000 260,000
2 200,000
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SN HH.SS(SH) - MEAL Aro e =2

E0E ZAHTHAIE (ZS) = 8,000
= 32,000

402 RI2HXHE0IA 240,000 300,000 A 60,000
s 200,000
& 8,000
i 32,000

01 BIZEXI=22 X 240,000 300,000 260,000
O EO0tE 2FHTHHHAIE 20,000& * 20,000m * 60/100 240,000
s 200,000
& 8,000
= 32,000

E0IE ANE20 AMEMNE(ZS) 480,000 1,020,000 A540,000
s 400,000
= 16,000
= 64,000

402 212t X=01M 480,000 1,020,000 A540,000
= 400,000
& 16,000
= 64,000

01 QIZIRI2E2 X 480,000 1,020,000 540,000
O AEJAU AlIE WM 20,0002 *40,000m* *60/100 480,000
s 400,000
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S s=ot
A0 STAIY
A0 2 SBRS 28 FD chelE e
SA - E S (3) - HIRA &k oy e =2
402 QU2HXHE0IH 30,000 30,000
01 2 R=Ex 30,000 30,000
O S (L) M X2 28.5hax1,754,380% x60/100 30,000
MorZ (HIIS)AMEMEAAMSE (2SE) 600,000 0 600,000
s 500,000
= 20,000
= 80,000
402 SIEHE01& 600,000 0 600,000
s 500,000
= 20,000
= 80,000
01 2UARE2EX 600,000 0 600,000
O Morx(HIIS)AIZ M AL 50,000& *20,000m" 60/ 100 600,000
s 500,000
= 20,000
fia 80,000
=NHEEDSSKNE 10,000 0 10,000
= 4,000
= 6,000
402 SIZtXHE0IHE 10,000 0 10,000
= 4,000
= 6,000
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2N

Xl
d
HH: 2
Al

Sl NS0 U SSHS FWA HD (el @e
SA B (BH) - MRAY - B2 Ofl At o gg;ﬁ; Hnz2
01 QIZR=EE 10,000 0 10,000
O =X}EIDI3N 17§ 4%20,000, 0002 ¥50/100 10,000
= 4,000
- 6,000
Ol &b M AP B 7,000 0 7,000
= 2,800
2 4,200
402 RIIRZOIH 7,000 0 7,000
= 2,800
2 4,200
01 SIZREEE 7,000 0 7,000
O oI ADIBHE N 0.7ha*20, 000,000 *50/ 100 7,000
= 2,800
= 4,200
DEI FBY 2MY B4 7,727,960 1,942,402 5,785,558
2 376,59
2 1,230,000
= 601,793
= 5,519,571
B2 AIRIIE SN Y BRI 4,937,531 696,772 4,240,759
2 830,000
= 324,649
2 3,762,682
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SN ABRSELAD
Hm: DEI AP B4 54
S B AFSOIY 2K Y BRI CrRL
SA B (BH) - MRAY - B2 Ofl At o aﬁiﬂgj HRE2
= 8,400
= 12,600
EABMAAREE (SH) 2,679,931 0 2,679,931
= 264,989
2 2,414,942
307 LI2t0IF 2,400,981 0 2,400,981
= 221,129
2 2,179,852
05 0I2r9Er3 2,400,981 0 2,400,981
O ZABRZE25H| 60,0008 %72, 75755/ 100 2,400,981
= 221,129
2 2,179,852
402 RIIXZOIH 278,950 0 278,950
= 43,860
2 235,090
01 2ARZEE 278,950 0 278,950
O ZABLEHA 80,0008 * 500 X 40,000
= 12,000
2 28,000
O ZARSZHIINEYI X 159,300, 00021 5% %30/ 100 238,950
= 31,860
= 207,090
=N 2EI| X2 60,000 0 60,000
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SN AESASEAY
BH: DEI AP S4Y 84
el B2 AISIIBH RX Y BRI R
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
402 QI2EXE0| M 60,000 0 60,000
01 22 E X 60,000 0 60,000
O &3 23 300CH*400,000 x50/ 100 60,000
Y& = & TEMAL 50,000 0 50,000
307 QI2to| A 50,000 0 50,000
04 OIZ2tSHAIE X 50,000 0 50,000
O StR2AHIZS A AL 25,000,000 *43| x50/ 100 50,000
T.M.RAFE 28td| XI& 100,000 0 100,000
301 LBt AZ 100,000 0 100,000
12 IS 100,000 0 100,000
O 2BHdl X 600! %555, 555 %30/ 100 100,000
AESIR BHE e 30,000 0 30,000
402 QI2EXE0l N 30,000 0 30,000
01 IZX=2EX 30,000 0 30,000
O HESIR BHE e 30,000,000 * 14! 30,000
TAE MAD|BE KX 444,000 0 444,000
402 QI2ENE0lN 444,000 0 444,000
01 QIZX=2BEX 444,000 0 444,000
O ZAtg MFAZHN X3 120,000,000 * 5J0HA = 60/100 360,000
O A EAN=S2S 1,600,000& x105CH x50/ 100 84,000
ESYdSMNEZE2H S& 440,000 0 440,000
402 QI2ENE0lN 440,000 0 440,000
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SN AESASEAY
Hm: DED AEF =AY |4
el B2 AISIIBH RX Y BRI R
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
01 QIZEX=E=x 440,000 0 440,000
O sgds M2 M= 628,571,000 « 10 A x70/100 440,000
SIRAIRIIEIR X (ZE) 996,000 0 996,000
g 830,000
= 33,200
o 132,800
402 QI2EXE20lN 996,000 0 996,000
g 830,000
= 33,200
o 132,800
01 X2 EX 996,000 0 996,000
O ZstFstI|8tx o 123,333,330 *6=*60/ 100 444 000
g 370,000
== 14,800
o 59,200
O SEINSUZSESAMAEEX(EAL 92,000,000 *10=+60/100 552,000
g 460,000
T 18,400
= 73,600
HIISIMUSA AR S 8,400 0 8,400
= 3,600
iy 4,800
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SN AESASEAY
Hm: DED AEF =AY |4
el B2 AISIIBH RX Y BRI R
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
402 QI2EXE0| M 8,400 0 8,400
= 3,600
o 4,800
01 I EX 8,400 0 8,400
O HIIE U S Al A 6,000,000& * 2CH = 70/100 8,400
== 3,600
o 4,800
e O FAZE AMAE 2,102,876 845,310 1,257,566
= 134,300
g 400,000
& 190,662
o 1,377,914
SNMSEINSEH KE (=) 48,000 50,000 A2,000
& 9,600
o 38,400
402 QI2EXE20lN 48,000 50,000 A2,000
= 9,600
o 38,400
01 QI2t=E=x 48,000 50,000 /2,000
O SNEENEH K& 6,000, 000& *16&+50/100 48,000
T 9,600
= 38,400

_38_



SN HBRSELAY
]

Hm: DEI AP B4 54
Sl FEY HHELS M (B9 &)
SA B (BH) - MRAY - B2 Ofl At o %gi HRZ2
tEEEHIAE X (2Y) 426,800 368,000 58,800
= 134,300
2 292,500
402 QIAXZ0IH 426,800 368,000 58,800
= 134,300
2 292,500
01 gIR=REE 426,800 368,000 58,800
O NE2uHIALX 2 3,153, 1252 1284 4 ¥50/100 201,800
2 21,800
2 180,000
O 2Lamyl 50,0002 *1,500ha 225,000
2 112,500
2 112,500
Rat 01X (S Hl) 7,500 6,000 1,500
= 2,250
2 5,250
402 QIAXZ0IH 7,500 6,000 1,500
= 2,250
2 5,250
NEEESEEES 7,500 6,000 1,500
O Xtat4Il N 5,000,0008 * 35 * 50/100 7,500
= 2,250
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SN HBRSELAY
]

Hu: DEX B 2MY S4
Col: ZIB OREAES MY GEERED
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
i 5,250
M |4 X2 (<) 18,000 31,250 A13,250
= 9,000
= 9,000
402 QI2tXE201H 18,000 31,250 213,250
& 9,000
= 9,000
01 BIZEAI=22 X 18,000 31,250 213,250
O =gugsy 129014 = 3,000,000& * 50/100 18,000
& 9,000
i 9,000
FEMH FSaE MAXIR(ZH) 10,400 21,580 A11,180
& 2,080
= 8,320
402 QI2tXE201H 10,400 21,580 211,180
& 2,080
i 8,320
01 BIZEAI=22 X 10,400 21,580 211,180
O SEMH sS4t HXE 5,200,000¥ * 4=t » 50/100 10,400
& 2,080
o 8,320
RS sEIRI|(ZHI) 24,000 48,000 24,000
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SN HBRSELAY
]

Hu: D2 A& 24Y |4
O HEF HBLS M (S5 &)
S HH - S(BH) - HEAY - BE=2 Off &+ o4 ggi HRZ2
WRE SZIHRII(SHI) = 12,000
2 2,000
402 BIHXHZOIF 24,000 48,000 24,000
= 12,000
2 12,000
01 IATREZE 24,000 48,000 /24,000
O THRE 5 )| 34 * 10,000,0008 * 80/100 24,000
= 12,000
= 12,000
Mad H0IB HER X (TH) 3,392 6,480 6,912
= 6,696
2 6,696
402 QI2ER=OIE 3,392 6,480 6,912
= 6,696
2 6,696
01 QIATZEE 13,392 6,480 6,912
O dey HHOIE HEPH X2 120,000 * 18674 2 *60/ 100 3,392
= 6,696
= 6,696
ey SH2 MUK ZRSH(SH) 70,000 70,000 0
= 30,000
2 40,000
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SN AESASEAY
BH: DEX AP B4 84
el ME OIEEME M (Srol: &)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
402 QI2EXE0| M 70,000 70,000 0
= 30,000
o 40,000
01 I EX 70,000 70,000 0
O Z&td FSNE MM &Y 100,000,000 =11 2~+70/100 70,000
== 30,000
o 40,000
FEtH =SS ISHI X (=HI) 25,984 0 25,984
& 11,136
o 14,848
301 LBtEAZ 25,984 0 25,984
= 11,136
o 14,848
12 JIEIE A2 25,984 0 25,984
O ZSFFAZCSHIXEH 640,000 x585 x70/100 25,984
o= 11,136
= 14,848
SAF ZE(ZAH) XS 80,000 0 80,000
402 QI2EXE0lN 80,000 0 80,000
01 IZX=2E X 80,000 0 80,000
O IN2FsIF Z2E(2AH)XLH 1,600& %100, 000& x50/ 100 80,000
REH SIRMA SEAAEH 20,000 0 20,000
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SN AESASEAY
Hm: DED AEF =AY |4
Cel: EB GEEAS M EEE-E)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
308 KXIEHHSOIH 20,000 0 20,000
05 AXHHZUAREES 20,000 0 20,000
O ZSHMARISAIAE 200,000,000%10/100 20,000
SMEAZHIIZEE 675,000 0 675,000
308 XXIEHHSOIH 675,000 0 675,000
05 AXSHHUAREES 675,000 0 675,000
O sMEMs4II3EE 6,750,000,000%10/100 675,000
=R ElHFR KEA4E 480,000 0 480,000
Fag 400,000
== 16,000
o 64,000
402 QI2EXHE201 N 480,000 0 480,000
g 400,000
= 16,000
iy 64,000
01 RIZE=EX 480,000 0 480,000
O I=E2REFHSSAE 800,000,000 x1AI%60/100 480,000
s 400,000
o= 16,000
= 64,000
S SEA(HI) 40,000 0 40,000
= 10,000
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SN AESASEAY
Hm: DED AEF =AY |4
Cel: EB GEEAS M EEE-E)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
REtHY =S =AM (TH]) o 30,000
402 QIEXE0l N 40,000 0 40,000
== 10,000
o 30,000
01 X2 EX 40,000 0 40,000
O ZstFey=sF4t 20,000,000 *4= JF+50/100 40,000
= 10,000
= 30,000
REAALASIIAIE XA 27,200 0 27,200
& 13,600
o 13,600
402 QI2EXE0lN 27,200 0 27,200
& 13,600
o 13,600
01 QIZX2BEX 27,200 0 27,200
O &&FEASIIXS 54,400,000 =11 2~ *50/100 27,200
o= 13,600
= 13,600
Ol S ALSHI &I 100,000 0 100,000
= 50,000
o 50,000
402 QI2ENE20|N 100,000 0 100,000
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40
E
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= A CESI(SIH) - HISAY - BYS O &b o e =32t

402 QI2EXE0| M = 50,000
o 50,000

01 RIZE=ExX 100,000 100,000
O OIMZSAtZHH 6,250,000 x201 80/ 100 100,000
T 50,000
= 50,000

SAEDIAIA 31,000 31,000
= 15,500
o 15,500

402 QI2ENE20lN 31,000 31,000
= 15,500
o 15,500

01 QI2t=Ex 31,000 31,000
O SAEDIIAE 3,875,000 x1621*50/ 100 31,000
= 15,500
= 15,500

SAED|IHAEE 5,600 5,600
= 2,800
iy 2,800

301 Et8AZ 5,600 5,600
== 2,800
o 2,800
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SN AESASEAY
Hu: DEX B 2MY S4
Col: ZIB OREAES MY (B9l &2
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
12 JIEt2 A2 5,600 0 5,600
O SAstzidd 1,000,000& *8= +70/ 100 5,600
= 2,800
o 2,800
JIEdEEYE oY 687,553 400,320 287,233
= 242,296
& 86,482
= 358,775
=L AAY =& 164,701 180,493 A 15,792
101 21244l 14,652 13,123 1,529
10 JIZtNZ2Z2NSEs 14,652 13,123 1,529
O =LY Ex: o1Ad| 14,652
== 32,9803 * 260 * 19H 8,575
- =5 32,9803 * 52¢ 1Y 1,715
— Aztez2f=4g 4,705 * 12A12F » 128 » 1¥ 678
- &0z 8,574,800& * 48 / 128 * 1Y¥ 2,859
— HEXY 32,9803 * 25¢ * 1Y 825
201 Letg] 7,130 6,570 560
01 At 2teld] 3,380 2,870 510
O I=SYAAR=E S| 7,000& = 3% * 60 1,260
O NSLAARFZX AEUH(EE) 3,000& * 20& * 123 720
O NSLAARFX AR (B A E) 1,600& * 208 * 128 360
O IELAUARZE ALEIH(3+5) 2002 = 10004 = 123 240
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SN AESASEAY
Hu: DEX B 2MY S4
& Ot =S&HgE ol (ctel: &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
O JIEs¢Aza St 80,000& * 100K 800
02 2324l 3,750 3,700 50
O J=&d 2axxy 282 550,000& = 13 550
O SFMEREZ, ASHA 200,000& = 13l 200
O gaAXg =4l 1,000,000& * 33 3,000
202 O4Hl 3,600 4,000 2400
01 =Wobl 3,600 4,000 £400
O =89 =& ol 20,0003 * 3% » 60 3,600
206 M=l 85,000 85,000 0
01 =4l 85,000 85,000 0
O JH=2d g A=s4+E 2 25,000& * 2,000kg 50,000
O R=FAet MHE I 2 350,000& = 105 = 100H3 35,000
301 et A= 54,319 60,800 AG6,481
12 JIEt243 54,319 60,800 26,481
O 39 &s=¢ 300,000& = 3H « 12& 10,800
O =AM ME 234l & 7,000& * 6,217% 43,519
=g (24l) 248,564 118,550 130,014
= 109, 152
L= 45,339
i 94,073
206 M =4l 89,524 72,195 17,329
2 61,440
= 11,941

_47_




SA:

x|
]

HH: DEI AP MY KM
I +

Ciol =R oY (sl &
SN HB S (BH) - MBEAY - BAS of Ao S HRS2

206 XM =2 H| iy 16,143

01 MZ=Hl 89,524 72,195 17,329
O IIIsgIAeY 89,524,000 =1 89,524
= 61,440
== 11,941
= 16, 143

301 LEEAZ 159,040 46,355 112,685
= 47,712
= 33,398
o 77,930

12 JIEIE A2 159,040 46,355 112,685
O &~ E2HcHEY 7,000 %22, 720514 159,040
= 47,712
= 33,398
= 77,930

EA= I A A KR (EH]) 6,000 5,000 1,000
== 1,200
o 4,800

402 QI2ENE0lN 6,000 5,000 1,000
== 1,200
o 4,800

01 RIZE=EEX 6,000 5,000 1,000
O sS4t 29 &y K& 3,000,000 * 4CH = 50/100 6,000
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S AEBYSEND
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el JISXGH oY (29 ®Rl)
SN HH . C(B) - MRAY - BES Ofl AF o4 %g;ﬁ; HRE2
= 1,200
fiis 4,800
THSE gH0ls ASEHY| 2,000 0 2,000
206 M =4l 2,000 0 2,000
01 M= 2,000 0 2,000
O 7MY A=ZHIXA 10CH*2,000,000%10/100 2,000
SSSMS XA (=24I) 266,288 0 266,288
2 133, 144
= 39,943
= 93,201
206 M =4l 64,328 0 64,328
= 32,164
& 9,649
2 22,515
01 TZHI 64,328 0 64,328
O SsYHENIL=EASNE 860& *3, 740 Jt+20=] 64,328
= 32,164
= 9,649
i 22,515
301 et a= 201,960 0 201,960
= 100,980
= 30,294
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